& @ ':%’ m @ fiinf Briiche, Reihenfolge der Operationen mit
Klammern

Name: Datum: Ergebnis:
3 1 1 1 1 1 1
4+— +24+2-22= (2P X 2= (= + =)=
( ) 1t (4 (3))><6 (3 6)
32 1 3 3 12 1 12 31 3
Y+ )X (242 = —— )Y+ I(=+ D)=
((5) 2) 1 (5 2) (4 4) 5(2 4)

(2 Z)+§+5 2 ((6)+3) 6 (2+2)
3 do 3. 3. 30 _ T, 1o
(5 (g)) 2+(4+4) ( ()) +(3+3
LUV I ) NS IV A 1.1, 31 1,5
(g Z) 3(5 (2)) (5+2) 4(3+(3))

www.snowmath.com


https://www.snowmath.com

SO

fiinf Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
1 3 1 565 25 1 1 1 1 1 41
A+ 2P +Z+-—22="" 152 —H(EP)X == (= + =P = (——
( 3) 4 6 36 36 (4 (3) )% 6 (3 6) ( 216)
3, 1.3 3 1, 113 1 1, 31 3 3
P+ )X (24 Y =(—— = Y4+ (=+2)="C
((5) Z)X 4 (5 2) ( 200) (4 4) 5(2 4) 4
1 1 257 1 1 1 1 1 1 203
2— P4+ +5¥x-=""=16— P )X —— (=4 )Y = (=
( 4) 2 1 16 ((6) 3) 6 (2 2) ( 216)
3 1, 3 3 3, 107 11 1 1, 1 1 1, 151
——(= (4 IY= = - —(= —F(=F -V =—"—
GG 3 TGP T Ty G-GN*3tG*3) =35
1 1, 1.1 1, 17 1 1, 31 1, 47
(3 4) 3(5 (2)) 720 (5 2) 4(3 (3)) 300
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